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an angle is equal to one fifth of its complement then its measure is
15° - ‘ B) -30°
(C) 60° A - (D) 25

@ Carenoneang g Hrlys Caramgen ppHAanm UtssHhE swob aalld SECarambd ag)? |
@  15° | . ® 30° R
© 60° S D) 25° '

If a, b, ¢ are lengths of 3 sides of a right angled triangle whose largest side is c then the

relation satisfied is N
A a?+b*+c?=0 7 o B a+b=c

© a° - 2be o o ” a?+b*—c* =0

a; b, ¢ erenmLIAT QR Q&rﬁ:@&nmr‘@oé;@sﬁméﬁs&r apey LiBSHEHT araraib Seuppier QUi LsSD ¢
aranayb @mLnden Epssam  OpmLiysai g sfwmeng? ’

(A) 2+ bi+t=0 , B) 'a+b—c

(C) a®=2bc | @) a’+bt-c*=0

In a’ pérallelogram, if the larger angle is 30° less than twice the smaller angle then the

‘smaller and larger angles are respectively -

Ay 20°,50° . (B) 30°80°

© s0°,70° - - . Y0, 110°

@i Qeanarsder Guiu Garamoreng g Aflw Carargden @m wLtiens il 30° @mmmn&; '
" Qafng eraflér ABlus G&ITGRITLD LHMID Qulﬂm Carawrd gperpGu -

(&) 20° 50° _— B) 30°, 80°
©  50°,70° @) 170° 110°
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4. Which one of the following rational number has non-terminating decimal expansio'n“.,

5 : 11
(A o1 _ o r2'
27 : ' 1

©) 0 . v . ™ 100

Genaumid NESpm cTasEneT eTg (P DI S5 SITMONE DD ?

5 11
o ® 3
© =z ' ®

40 _ 100

5. fx:y=2:3and y:2=5:7 thenx:2="?

@a 2:7 o ®) 3:5

© 7:100 - @M\

X:y=2:3Cw@b y:2=5:7 erefld x:2 =2

- A 2:7 , B) 3:5
€ 7:10 , (D) 10:21
6. -The inverse ratio of1:2:31s _ '
A 3:2:1 d\szszz

©C) 3:6:2 B _ D) 3:1:2
1:2: 3-Qen g Ndlgnd
A) 3:2:1 | . ®B) 6:3:2

C) 3:6:2 _ D 3:1:2

AWMGS/17 | 4
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A man invested Rs. 25,000 at 4% per annum in compound interest and received the amount
Rs. _27,040 after n years, then value of n is : -

2 yrs.
B) 3yrs. °*
' 1
C 2— yrs.
©) %3 yrs
® 31 yrs
5 yrs.

- R@eui, sige @m. 25,000 murew yHTREES sl () aly 4% &g @503@ Qeig) 7 %m@.sm

&05s1 . 27,040- Qgrenswmsl Quyeﬁl;mrrr arafled n -em Ly wng?
Q) 2 gyam@haer
®) 3 genpser

© 25 gerpse

® 35 sengad

. t
Simple interest on a sum of money is %5 of the principal and the number of years is equal

to the rate of interest per annum. Then the amount after 4 years will be

m 1.08 times the principal

(B)  Twice the principal
(C) 1.21 times the principal
(D) - 1.81 times the pr_incip_al_

@ é{&@}fﬁ@lﬂlu gafleul g Limeng) a@aw&ﬁ —2l5- wLBdbE sob Cuogb su@l_g,ﬂdn
Grafcrmﬂe;masum SLeT(H euLltg eﬁg,q,om gL aresfled 4 sy ehrHsafcr thq.@fﬁa) é]a)t_a;@u) Qg,rrma;mrrasrg

o A)  sswol Gurd 1.08 wLtkeg

B) Fme) Cumed @HLOL IS .

(C) gamals Gure 1.21 kg

D DDLU Gunme 1.81 WLBIEG
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9. . Ramanujan number 1729 is a
| (A)  Prime number
Composite number
| (C) Neither prime nor composite

(D) Priine number 4s well as composite number

unmn@gm'aaﬁr 1729 Q],é@ )

(A)  uam erewT

B) uEear

(C)  uET TITPLD SIVR LIG TATEULD DIV

D) usr CTERTERTTSGYLD U@ TeRTeRTTEa|D GmEGLD

10. Median of the following data
18, 12, 51, 32, 106, 92, 58 is
A) 32 ‘ (B) 106

MNis D ® 18

Epsaam_ efauriisafier Qe flaeowere) eg?

" 18, 12, 51, 32, 106, 92, 58 .
@) 32 ®B) 106
(€C) 51 _ D) 18

11. "Meanof x, x+2,'x+4, x+6, x+8'is 16 then value of x is

_mm - - ® 16
© 20

D) 60 -

x,x+2, x+4, x+6, x+8 aranp efleuyiisafen syref 16 arafled x et HUL?

A 12 .. (B 16
© 20 . D) 60

AWMGS/17 6
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12,

13.

14.

15.

L

The base -current of the transistor is Is = 50 uA and collector current is Ic = 256 MA
determine the value of 8? ’

500 | (B) 300
(C)y 250 . _ (D) 100

Qumg auﬂlgpuumrr sHfle Sigeumi BenGeanmLib Is = 50 ,uA sr;ourrar WenGerrm_t b Ic = 25 MA,
WenGarm L Quwsad S =7 :

(A) 500 _ B) 300

(C) 250 (D) 100

Which of the following will radiate heat to the large extent?

(A) = White polished surface -~ (B) White rough surface
(C) Black polished surface Mlack rough surface

- aTgs@aw LTy Hs SemeilhE Gmuugmg sl eﬁé&rra;'Qeuaﬂuﬁl@lS?
A)  uvetuetULESSUILL L QeudTeneT LIFUL B) Qemy@emyLuren Qms'mnmu_ Uiy

AC) . wetwemssLuLLsmwew Uty - (D)  Qemplsmruurésluc L smeno Ly,

‘The converse of Seebeck effect is

(A) ‘Thomson’s effect. (B) Joule’s effect

(C) Magnetic effect : , M Peltier effect

&us eflenemailen LMBMD

(A) 5rubmdn_a§]a)méq (B) g eleneney _
- (C)  anpg eSlemerey ‘ D) Quégui aﬁla)msq'

The concentratlon of hydrox1de ionin a basm solution having the pH value 4 is
@A) ,1x10* M ' | x107° M
(C) 1x10* M ' ' D) 1x10*M

pH wdllu] 4 2 éver @@&rrl;rés_ a;mu&aﬂe&r an_gréesH .;9|u.|aﬂ Qedley
(A) 1x10™* M ®) 1x10°M
(C) 1x10* M ' ' - (D) 1x10*M

7 - | AWMGS/17
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16.  Match the following :

(@ CuS04.6H:0
() ZnCO;
(© AgNO;
(d ZnO
(a) ) (c)
A 3 1 2
® 3 2 1
© 3 1 4
N 3 4 1
Epsnanucupep QUTHSES |
(@) CuSO,.5H,0
(b) ZnCOs
() AgNO;
(d ZnO
@ ® . ©
A 3 1 2
® 3 2 1
(C) 3 1 4
3 4 1

@)

- W

CY

NN A

I SI

CY

N N

Lunar caustic

Philosopher’s wool
Blue vitriol
Calamine

QT EFGVIG &
|§I(Bmmmr'r P
oulléd FiSsLo

STENHLDEAT

17. Find out the one among the optlons which type of resplratlon takes place dunng

fermentation?

(A)  Aerobicrespiratien
(B) Photo respiration
(C) - Dark respiration

M Anaerobic respiration

&1 EranmILDLEUSETET IS SeuTFLD Gmn:ﬁggaﬂdt(ﬁurrgj B Qumdlng?

(A) anpg Feursw

B) gafisseursn

© QoL saursw

D) stpHloer seursd
AWMGS/17
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- 18.

19.

1.

~ Match List I with List II.

- List I : . : List II
(2) Respiratory quotient of carbohydrate 1. 0.36
(b) Respiratory quotient of organic acid 2. 1
(¢©) Respiratory quotient of fatty acid 3. infinity
(d) Respiratory quotient of anaerobic respiration . 4.  1.33
@ ® 0 @
A 4 3 2 1
3B 3 1 4 2 .
© 1 2 3 4
I 2 4 1 3
 afies I 2 Len aufilens Iy QumwSSis.
| aflens] , . cuflens I1
(a) snﬁcunmgm;Gqu.dT HEUTE Frey 1. 0.36
- (b) sflw sflesHen seune Frey 2. 1
© Qasxr@uq SISl seuns rrey 3. Wiy 6Dl
(d) smddoersaurssfen seune ey 4. 1.33
@ (b) © GV
A 4 3 2 -1
@B 3 1 4 2
© 1 2 3 4
®) 2 4 1 3
Human insulin has a molecular weight of
(A) 28,000 daltons - (B) 5,700 daltons
(€) 2,000 daltons |  «7™%,808 daltons
weflg @ enaeden epedan hibles crmg_‘u.prrdrga o
(A) 28,000 _réLénser ' _ (B) 5.700 LreLénser
(©) 2,000 Lréo_cusar ' (D) 5,808 LréLensar
9 : : AWMGS/17
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20.

21.

22.

23.

AWMGS/17 | 10

The 112 foot tall statue of Shiva, which was unvelled by our Prime Minister on, 249Feb
2017 near Coimbatore is named as

(A)  Shivayogi ‘ B) Naamayogi
© Vedéyogi : w Adiyogi

24, Guigeuf 2017 ey BLog) IQII§L0 wiHAwure Camubusgnt HiwmGs @g)‘r_rgg @eubEILLL 112 Sl
o_wipwiren Hevang 2 (Heuddlee Geueumm QuuAL vl Hareng.

A) HalBurd Y (B)» ;r;rrl.oCSu.Jrra‘:]
(C) CaugGurd - (D) HCund

Shyam Kumar is associated with which sport?
(A) - Chess : _ Boxing

- (C)  Cricket (D) Wrestling:

Awmd @i Spaer aﬁlmmu_lrr.tl_@asaﬂd) Te@L e AgmLfenLwai?

(A sgrasD (B) ©B&ssssL

€ AfsQs. | (D)  wpCur

The younger Nobel prize winner for peace is
Malala Yousafzai ' (B) Lawrence Bragg
(C) Tsung-Dao Lee ‘ (D) Mother Teresa

Siwdssrar Gprud ufs QUL L& GereTweui eTeur?

(A wrerer yersleoml ' - (B) emrgenev 9gné
© em-LGurss (D) simmar QsCyen
According to new world w‘ealth report, —————— is the richest city in India.
(A)  Chennai _ w Mumbai

(C) Bangaluru ' : ‘ (D) Delhi

HHw 2 wa Caea auar <ifléamauden Uig, &Lpa;awn_m;ggﬁla) Grdwrelicr Asdaud 1@ paTD Grgj?

(Ad) Qsenenen ) » B)y e .
(C) Quraenm (D) GQLeved

n



24, %fhere will be held the next FIFA (201_8)'W\0ﬂd Cup Foot Ball?

25,

1

&)  Brazl . ‘ @ Russia

) Germany | (D) * France

- Gur 2 @& Gamiemu srédupbgi Gum i &i@j{g weop 2018 - & eriuE penL_Qumb?

A) JYGrée - B geigwr
© » Qgpioef] : D) l.‘ﬂ:;ﬂfé‘ld\)

Match List I with List IT and select the correct answer usian the codes given below :
List I ' : ‘List II

(a) National Panchayat Raj Day 1. . April 18

- (b) World Heritage Day ’ 2. December 10
(¢) ‘World Blood Donor Day ‘ 3. April24
4 June 14

(d) World Human Rights Day

@ ®» © @

@ 3 2 1 4
®) 2 3 1 4

3 1 4 2
O 4 1 3 2

uliguied I g..l.ll'_l.q.l.l.la.) II 2. en Qurpsd ECp Qar@ssiL_Herer @gﬁ]uﬁ@&mm& Qanan® sflwimar
uees CsrnGs®.

uigwel . o uigque I
(@) Gsdlwugssmus gr@ BIeT 1. qgure 18 v
(b)  ec.esumbuflu ;r)rra'r- ) 2. gsburl0
() o @s&r&sD m@@@cmnﬁ-pnﬁ 3. gLIé 24
(d) 2oswvefs o_qﬂanmq;d} [BreT 4. grarld

(a) ® () d
A) 3 2 1 4
B 2 3 .1 4

© 3 1 4 -2
D) 4 1 3 2
mn | - AWMGS/17
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- 26.

- 27.

28.
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@
The subsidy for mild hybrid vehicles was w1thdrawn by the government under FAME
scheme in April 2017. FAME refers to

(A) _ Future achievement and mobility of hybrid and electric vehicles

Faster adoption and manufacturing of hybrid and electric vehicles v

7 (C)  Futuristic adoption and manufacturing of electric vehicles

(D)  Free adoption and manufacturing of electric vehicles

“@Lipéd 2017 @su Wi Lomer sotGer ansamseEssstar braflug Qgrmamu, FAME S sfer 8

SUTF ,ﬂ@muu Qupgieterg). FAME erénug Benss GH&ED

(A)  Future Achievement and Mobility of hybrid and Electric vehicles
(B)  Faster Adoption and Manufacturing of hybrid and Electric vehicles
(Cy  Futuristic Adoption ahd Manufacturing of Electric vehicles

(D)  Free Adoption and Manufacturing of Electric vehicles

World’s largest transport airéraft is ‘
(A) The airbus ‘A 380 ’ m.ntonov An - 225 Mariya
(C) Impulse -2 o (D) ‘Hyperloop’

2 Gl sl QuAlw Gurre;@mug@ surrsuraerrrﬁl

(A) giuev A 380 B) =nCGLrGrreu An - 225 wlwr
(C) . @wueey -2 | D) ‘emanur gn’ -

4

_ ‘Robotanum will provide more access to more people in order to continue creating Robot-

assisted technologies will become 0perat10na1 in
A) 2020 @017
(C) 2018 D) 2019

‘CrrGurGLriww’ eremiu@n D&ESEHEG Hs 9_,56:51 QsrLihHa (Bsanau Gasrr@ssssqm ufsres
2 (heurd@ih CrrGum 2 g6l Agmflopl Lb eThE eumHLLD (pse QewudLEL

A) 2020 B) 2017

(©) 2018 | (D) 2019

Ll



29.

30.

1t

'.]‘

“The year 20_.16, has recorded‘ the highest température since 1880° - says NOAA, in
Jan, 2017, NOAA refers to | ‘

(A) Natlonal Oceamc and Aeronautics Admlmstratlon
MNatwnal Oceanic and Atmospheric Administration
(C) - National Oceanic and Anemometnc Administration

(D) A National Oi'ganis'ation for Anemometric Administration

1880 yeamyalimbe 2016 euepuie o crer Q,a‘ur@asaﬂé) 2016 .Q,LB @ H girér Bs siflswonen
Gajuu.r_ﬂmmmu_l u@m QeLgereng)’ GTGﬂg] NOAA sparaufl 2017 e mgb]ummg: NOAA asm_:gj
Boss GhlEcH - |

- (A) National Oceanic and Aeronautics 'Administration

(B) National Oceanic and Atmospheric Administration
(©)  National Oceanic and Anemometric Administration

(D)  National Organisation of Anemometric Administration

- When was the Aadhaar Bill passed in the Parli_ament?

(A) | _11.th September 2016
(B)  11% March 2017
(C) = 11*» March 2016

M 11t March 2015

- B 10CeTHT LTTTEELaDSHD @uHprul L g eriGumg?’ . -

(&) Qstbuiil, 2016

B) wmsll, 2017
(C) wmivg 11,2016
D) wm#ll, 2015

13 - | AWMGSN7 -~
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31.  Which one of the following is not correctly matched?

(A)  Kuroshio current - East coast of Japan
(B) Perucurrent - West coast of South America
(C) _ Canaries current - West coast of Africa

Gulf stream current - ~ West coast of Europe

& paseir a;i)gysaﬂé).srgj sflwrs QurpHgeiidoame?

A) ECmaiGun §CGymiLw - - guunallen s sLDay
B) Qu@ fCrm L - Qgar sQuAssreien Cop@ s—psmy
(C)  anenfie FGyTLL b [ e00fssTeidr GohE sLpE®T

(D) & ﬁGrmLLt_b ' - fCrriuneilen GopE sLHamy

32. - Pick up the correct matched answer :
Temperate Grassland Biomes

List A  ListB
(a) North America 1. . Steppes
() Eurssia 2. Velds
" (c) Argentina ~38.©  The Plains
(d) Africa 4. Pampas
(@ ®) © G
Aa 1 3 2 4
®) 4 1 2
M 1 4 2
o 2 4 1 3

shwrs QurmSSLILLBeTar ellepL_enws G;sfrﬁ@,ﬁ@ :
BsQatius werLe Lo@aef G aumfiL s

Uliquier A ulgwe B
(a) aL QwissT 1.  ev@und
®) wCrefiwr : 2.. Qaue® ‘
() STgemgam | 3. QuflwswQeuef
d) Uuafissr 4. umbumev

@ ® © @
@A 1 3 2 4
B 3 4 1 2
(C) 3 1 . 4 2

2 41 3

D)

AWMGSNT T



33.

34.

35.

'36

n

The worlds second h1ghest peak L ‘ |
" (A) Mount Everest o MMount Godwin Austen
1 (C) . Kanchen Junga o (D) - Nanda Devi
2 wdler Qrem_reugl 2 Wiks HETDd
Q) wveye erau@ravi o (B) weyer. s ellén 4,605 6BT
©) s@eanghiar D) pHs Cse
According to which book a daughter has been described és a source of misery‘?
' « Aitreya Brahmana (B) RigVedha
(O Manusmiriti } (D) Bhagavat Gita *
Quéir GuYH®s GELLUSEDE gHUL L Carab eengy sagb FId
(A SuwsGrw LSll;rrrLomTLB , . - (B) MsCeaugw _
©  wgevsAg D) usassos
Asoka embraced Buddhism under the influence of
w Upagupta ) (B) Sri Gupta
(C) Kumara Gupta ' ~ (D) Chandra Gupta
. SGsmaay wannTHHDL GELIF USSFOLWSDS Spaus Asligeat
@ euest T ® JBeost
(C) LI ELST ] D) sbdy GLBH
‘The Banskhera inscription contains the signature of
WHarsha ~ (B) Hiuen Tsang
(C) Fahien ’ (D) Bana
. LITETEVSITT a;sb@e.n'_q.dy zsﬁsﬁ @EAWTLILD .
(A)  apfegi . ‘ » B) u.;ajrrs'ur&mmé;
© urdwmes : - (D) urewti
15
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317. Lok 'Adalats was introduced in
(A) 1950 -

' (B)
© 2000 ~ " g

Cars oigras Comppeilssiiul_L. @
A 1950 -~ ®
(€) 2000 ‘ : D)

38. ‘The Supreme court judges retire at the age of ?
~(A) 62years
(C) 58years ' (D)

2 &5 fHwenp fHufser giia Qupb aing

A 62awuyg : : (B) ‘

C) 58awg T (D)

39.  The present President of India is
(A) Mrs. Sonia Gahdhi - B
(C) Narendra Modi

spCurengw @pHws G Wrs saeaui
&)  Hwwd. Geraflwr snpd (B)
©) B® pCrpdy Gomg D)

40.— Supreme Court judges are appointed by
(A)  Cabinet Minister (B)

1947
1987

1947
1987

65 years .
60 years

65 auwg
60 euwigy

Dr. APJ. Abdul Kalam
Shri. Pranab Mukherjee

Dr. APJ. wiuigier somd -
. Gpewrnls apaiged)

Members of the Parliament

(C) Prime Minister. = & The President

e &5 BHwenp fHudlsener Hlunfiiveurt
(A) en90er’ SwEsTEET B

s

urgr@seny 2 mildleniaeT

(C) Qgsworir , D) Eywrss sl

AWMGS/17 - 16
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41.

42.

43.

44.

mn

Which social institution Waé considered essexy living ahd comforts of human beings?
(4) family state ‘ o
(C) society : : (D)  school ‘
wefls supsmusHen umpelDEb, arsfaad GILI)LJ@§§UUL_L_ @ @mgﬂu.mwu.lrrg &@5 Senoly?
@A) @hbud ®B) s |
© sepsmun ' ' D) uérefigga b
The term ‘Federation’ is derived from which language
‘ MLatin ) , (B) French -

(C) Hindi ' | o (D) Sanskrit
sal L& ereémp Qan@-demn@uﬁeﬁgﬁ,g QupliLt L g

A QoS ‘ ¢3)) IS]G:J@&

() aflpd | | D) swavdmsd
- Coca - Cola is a _ v
(A) pubhc sector - (B) private sector .

w ‘multinational corporation D) limited'company
CarsGar — Gare erarug ‘ _
(A) - Qurg ﬁg@mu.b . ' B) safwrr figiesemd .
(C) uenarni( Coe ssibd _ - D) eeruepisglul L sbGue
The population density of India is _
(A)  357.8/km’ | (B) 345.7/km?

™ 3619km? (D) 374.9km’

’ @ﬁﬁune&@_w&&dr’@§nm& SILTHH ‘
() 357.8&km> ~(B) 345.7/km’

©(©  3649km®> (D) 374.9/km?
17 AWMGS/17
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. 45. Bilat:,eral trade means
trade between two countries '
(B) trade between two or three countries
(C) trade between two or four countries

(D) . trade between many countries

BT uTSSSHLD cTETDTE)
A On BrH&EhEE e Gu eeter auissad

B Qe ey wpain BTEsEES GG o ateT uigssd
©) Qren® sidwg HreanG BrHsEsse Qoo Gu 2 emar afsssLd
D) ue pTHsERHE LG 2 drer UTESHD ’ '

/

46. Jawahar Gram Samridhi Yojana is a programme to eliminate
(A) . production . "~ (B) population
(C) unemployment . Mzoverty

geuani Aymo sibfgd Gwrrmnﬁs&@ b THEMEN agsgbg&lgpg?
@A) spurfloy ' ' B) wsésdrAgreas
(C) Gaumeuweaaw D) amew

- 47.  Which Five year plan aimed at improving the quality of life of the common man?
(A) fifth five year plan ’

(B) sixth five year plan

©) seventh five year plén

W eighth five year plan

weafgaian aunpsaas sTms GubUB S THS g;j,,snaﬁT®§ S sfen Cprssid ;ﬁ,@l.b?
A ghgregl LhsTEH Sl

B) prag ghgran® S

©) - gyraug ghsrar® HLLd

D) elireug ghsreami S0

AWMGSN17 18
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48. Q’he founder of the “Young Bengal Movement”.

49.

L

(A)  Annie Besant

J ‘Henry Vivian Derozio
(C) Henry Stéel Alcot |
(D) M.G. Ranade

“@emib curgen @tué;q;gmg” g]ggaslmm}’r
@ a@aﬂ Qusan |
B) Qapen eSleflwier OL_GUerCu.:rr'
(C) Qameng du};é) SOETL

D) e pranGL

The chief cause of the Khilafat movement was the defeat of whi‘qh country’in‘ the first world

war
( Turkey
B).. Germany
- (C) Ttaly
(D) Austria

@  pos8 _
(B) Ggiwef
© @sgred

@) e

e 2 st Curilé aps prig.er Caraoe Horug @u.n&&tﬁ@;,rrd‘:gpég sryeons EmHssl

AWMGS/17
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50. 15 litres of mixture contains 20% alcohol and the rest water. If 3 htres of water be.u(ed
~with it, the percentage of alcohol in the new mixture would be

@ 15% Mlsg%

(O 17% D) * 18—;—%

e 15 alti samauden 20% yosantaid 55 samaimb o dergy. Ao 3 Sl gsmm?rr
asam@m@]urr@g yHw seemeuuiler aTHsmen 56550 OEQDTED @@5@1_0?

@A)  15% ‘® 1650
© 1% . ® 18-%

51. An employer pays Rs. 20 for each day a worker. works and forfeits Rs. 3' for each day he is
- idle. At the end of 60 days, a worker gets Rs. 280. For how many days did the worker remain
1d1e‘7

4y 30 o B) 35
€ 39 o w7 )0

TG @gs\)n'erﬂ & Leflwrenic G Qaluyb Fresefle srlemeaas @, 20 sbuend AarREdDn.
Sjeuen Geuene @&u.uum;s gm_asaﬂw m. 3 ublapsd Qeudlpmi. 60 B ser Q,oum&'lo) @maui . 280

Quydpmi Graﬂa) THHMEN BTG | vesflwrert Caueme Qaliweldene?

@ 30 - ® 3
€ 39 - _ ' (D) 40
s2. _x . & _,

x-1 x*-1

@A) x | . | | wx_-;-l

x-1 x
_.1 :
© I= o =
- ' : - x+1
x x
x-1 x*-1
@ X ® X+
x-1 X
Cx-1
© = , D) —=
. x x+1

AWMGS/17 , . 20

o



- 83.

54.

55.

o

Arc length of a circular sector is equal to the radius r of the sector. Area of that circular
sector is equal to '

. | ® -

,/"“2_2 | o (D) ér?

@M alLé Cara ugHuier efdelean Bemoneng a@a‘r PID T EG SOOI Sl Lé

Garemriiu@ludlen urluerey
. ' ' ‘ 2
@ L ® -
: | 2
2
© = o S @ 2

Area of the tnangle whose vertlces (0, 0), (4, 0) (4, 6) is

(A) 24 sq. units P , m 12 sq. units
(C) 48 sq. units o (D) 36sq. units

0, 0), (4, 0), (4, 6) erenp yemaflgamer 2 sdsanass Qe WaGaremgdlen LiptiuaTey
(A 245 s0E ‘ - (B) 125 oG-
© 485 o ' D) 365 @@

Which planet is called gaséoi.ls planet?
(A) Venus -~ : (B) Earth

©) Mars B MJupner

eunu;qé;(‘o’asrrsir crempenp&sILi (b Gamer eTg)?

(&) Qaseredl | B) yef

© Q&siJGu T ' D) Swumper

21 _ - AWMGS/17
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56. LCMof x*-a® and (x-a)’ is
@) @ -d)wra) ® (& -a)(x-a)
W G-f@trazia) 0 @ +af@Pearedd)

x* —a® wpgd (x - a)? Qﬁwmg’);ﬁlm Lﬁéﬂg Qung) wLhE (B.8.1) erg?
@)  (P-a®)(x+a) ® (*-a)xz-a)

(C) (x—a)z(x2+ax+az). _ D) (x+a)’(x*+ax+a?)

57.  Volume of cuboid tank measuring 3 m x 2 m x 1 m in litres is

A)  6lit. ‘ | ® S5lit.
.M‘ 6000 lit. (D) 5000 lit.

318 x 218 x 115 piemeysen Qesrr@u. sa@sdious Sr‘r{s Ggm.".l.q.lﬁl'dﬂ sarsiarey S LMd?
A 6 . | -(B) 5. |
(C) 6000 &SI (D) 5000 &S

58.  If the price of gold increased by 20% on Monday and decreased by 20% on Tuesday then by
what percentage is Tuesday’s price higher or lower than the initial price of that week?

S\ 4% lower . (B) 12.5% higher
(C) 10% lower §))] " No change

grssHan v Hs fpew 20% a£$'rﬂ$£;ﬁ§] G&éjmnujeﬁl‘,pmwuﬁla') 20% @@pdps Gf@ﬂé)
, Qaémi_rru.lds@ sussfen e amsdar Qsm_ssclaamweilL. Gopaurar sgaish DR
fswrar s5eizn aresaleTay? ' '

@A) 4% geonay ®) 12.5% oyfsbd
© 10% geopey ~ (D). wrppb @ome

AWMGS/17 | a2
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59.

60.

61.

11

Which of the following statement(s) is/are true staitement(s)?'
@) All squareé are rhombuses also . V
@)  All parallelograms are rectangles also

(i)  All parallelograms are quadrilaterals also

@v) All trapeziums are rhombuses also

A (@) only '_ ' (B _ ), (u)

© O, G, i) | GO, (i)

EpsaarL sapmasEner Quiuiret s oTs/ cTeneu?

() o sgRsEsD FTUSSITRISHE G0

() adeorQmeTsrhisEhn QFeucustiSeT @M

(i)  eTeOT G)EOMTSEISEHID FIHSTRISHT GO

(V) erden sReuskisEED SMUSETRISE SLEWD

A OHuwuippd .  (B) (1), (u)
©) @, (i), (i) o D) (@), Gii)
Mean of 5 numbers is'27. If one number is eJ.{cluded their mean is 25. Find the excluded
number. :

M35' o ® 26

(€ 36 , | . D 10

5 aramseian syrafl 27. @@ GHCALL eraw rrfsé;asﬁuf_i_rrd) syrsfl 25 arenprélog erafier BEstiu L
GTEwT GT&)? : .
A 36 - ' : - B 26

(C) 36 - D) 10 .

12 men working for 8 hours a day can complete a work in 90 days. How ‘many days will it
“take if 8 men working for 12 hours a day to complete the same work?

- 90 days ) ‘ (B) 120 days
(C) 80days o () 100 days

12 st Hagpb 8 walIGryb Gauma Qelig '@@ Gaumaemw 90 prisalid opuss Quaib.
8 gy ser Hanpwp 12 wenfl Cpyd Geuame QsSTeD 2G5 Cauamaaniu (Ply&s Y@ELD BT &G eTHSemen ?

(A) 90 priser : B) 120 priser
(C). - 80 prlsdr : ‘ ' (D) 100 prisar

23 - AWMGS/17
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62.  How many two digit numbers are divisible by 13?
@A 13 : @ 9
© 10 ‘ : 7

13 g auguw Flless ararsaflar aamefléms argsemen?
@ 18 | ® 9
© 10 . D) 7

63. If1+2+3+..+n=Athenvalueof 1°+23+3%+.. . +n%=7?

oM i : ® & |
A2(A + 1) AA+D(2A+1)
©) —1 | D) o

14243 +...4n =4 aafé® 13+23+33+...+n3=?

@ 4 ' : ®
2+ : AA+1D(21+1)
©) —7 » _ D) —

64. AC frequency of 100 KHz to 100 MHz is required for
(A) Satgllite purpose .
(B) Domestit purpose
m Transmission of audio and video signals

D) (A and (B)

100 KHz qpge 100 MHz cueny siflifQeuir QanerL. worpfens BenCearm L ib um&ru@mg
A) gmaﬁés Ganer greysed

B) &L @ ouCunssdne

C) @& by sT_fésrer memssmaT gL

@) (A) wdgn (B)
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65.

66.

1

2KOH + H,S0, —K,SO, + 2H;0

The equivalenf mass of the salt, K2804 is

(A)
B)

equal to its molar mass
twice its molar mass

& half of its molar mass

)

2KOH + H,S0, ——K,S0, +2H,0

thrice its molar mass

K,SO, o.Cibén swren Henp

@A) .

®)
©)
)

Sipan Curent Hlenégs s

sigen Curert Renpenw Gured @, LLKG

2ip6n Cuoremt Hanpulled 'urrﬁ

&,56&% Gioireom(t ﬁlcng)cnu_l Curéd epeyy WL EIEG

"Match _ﬁhe following :

(a)
(b)
(©
()

Acid-base titration

HCl Vs NaOH L
HCl Vs Na,CO, 2.
CHsCOOH Vs NH,0H 3.
Oxalic acid Vs NaOH 4.

@ ®» © @

o 3 4 2 1
B 3 2 4 1
©C 4 2 3 1
® 4 3 2 1
Spanarucpann AUTHSE!S |

(a)
(b)
(©
(d

GV
(B

©
D)

SIB-&M LB LTSS

"HCI Vs NaOH

1
HCl Vs Na,CO, 2
CHsCOOH Vs NH,OH 3.
&50E ol Vs NaOH 4.

@ b '© (d

4

B W W
DN QO N
[ e

2
2.
"3

Suitable indicator

' Phenolphthalein

No suitable indicator
Both methyl orange and phenolphthalein
Methyl orange

-~

- uweruib HlptisTCig

1 NREE )

apg Hndiam _igub Sdhame _
Qugdlé 2rErs OO m LS]GMGbJ.L'@OSd‘I
Qe TEhs -

% - AWMGS/17
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67. Fungal cell .wall is made up of
'(A) Hemi cellulose (B) Cellulose
(C)  Pectin ‘ d‘ Chitin

er@ssaficn Qeaaeuir —————— erenp QuinmETTe) N,
A) QapfQsawegyGerev ) : B) QsogiCamev
- (C) Quéagen , ‘ _ (D) ealger

68. " ATP is a nucleotide consisting of
I Adenine, ribose sugar and three phosphate groups
II. Adenine, hexose sugar and three phosphate groups
III. "Adenine, De oxyribose sugar and two phosphate groups

IV.  Adenine, ribose sugar and nitrate groups

(A) ' I and III correct

M I only correct
(©) T and IV correct
(D) .II only correct

 ATP flyéefGurenL g 2 drarana
I Dlgamenen, engGumen &frés&én:r LoLi)QILB eperm UTeCUL per&sn py&eT
II. sigearer QapsGavra sidaeny LHMID epeny LTEGUL ape&snpseT
111 Sl eenal, iy 2 EaleyGLTEL siEsey Hpid Qreer® urevGul @m&&géd‘r
v. - Sigeenen, @yGLireh Grhésa;a;u LOHMID m‘r_r,l",cm'_ APVEFTYSET
@) I opg I shuramea
B) 1w G slurerg
(C) III whpmd IV sfwreneneu
(D) IT B sfiwreng

AWMGS/17 26



69.

70.

71.

“Which hormone inhibits the action of tesbosteroné?

(A) Corpus luteum Inhibitin

(C) - Oestrogens - - (D) Progesteroné

QLavCGLreveCyren anmiCGrer 2. Husfeow sHULS

@A)  smiued gIligud B @aefdigen
©) e Grger D) yGy@gevy Grar

About how many hereditary diseases in human beings had been identified?

- (A)  about 100 L (B) about 400
(C)  less than 300 o Mnore than 300

wefigalld assman wrys GeopuT_( ChTGe s@_Hlwiu’ @éreran? . .

(&)  ogpsE@ow100 B) gpég@pw 400

© '30065_@11:» @mgpmnaﬁ ' D) 3005@0 HHswrem -

What does RUSA stands for?

, m Rashtriya Uchchatar Shiksha Abhiyan

1t

(B) Rashtriya Uttam Shiksha Abhiyan
(O) . Rashtriya Unmukht Shiksha Abhiyan
) . ‘Rashtriya Unnatshed Shiksha Abhiyan

&gpédm_aljg')gﬂd) RUSA erétruges OMeurmésid g7
(A) Rashtriya Uchchatar Shiksha Abhiyan
(B) Rashtriya Uttam Shiksha Abhiyan

(©) Rashtriya Unmukht Shiksha Abhiyan
(D) Rashtr.iyal Unnatshed Shiksha Abhiyan

27
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72.  The State Public Service Comm1331on presents its annual report to
m The Governor of the State
-(B) = The Chief Minister
(C) The Home Minister.
(D) The President

wrile Qurgts vesflument CreurenerTuith Feangl %dur@.agﬂ&snauﬁlmar wrflib swirdi9&En?
@) - wrhe eyEsar | '

®) wnfleo ppoai

©C) odigien Semwssi

D) gamdud

73.  Mr. Natarajan Chandrasekaran is assoéiated with
(A) Reliance n . (B) Bajaj

" TATA | D) TVS

Am. pLyren sbHrGssren Qe g,
A)  MNeoeowerew (B) ugmdh
©€) wmienm . , D) - g.e.erew.

74.  Who is the Indian test captain won more test matches? »
(A)  S.Ganguly . (B) Sunil Gavaskar
(C) Mohammad Azaruddin « @™ M.S. Dhoni

Sifswren QLev’ Cumigseer Gléua'r@ Q8w Csu e wmt?.
7 A)  erev.smi@Eed ' - B) salle seurevait
C) sy ssTmHSEn ' - (D)  enb.ereiv.Cgmafl
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75.

- 76.

71.

)

() _ sellsteonbg

-~

The 45th President of America is

(A) Bl Clinton _- @ Yonald Trump
(C) Barrack Obama (D) George Bush
SAGwhésreller 45eug) garmdud ,

(A) Sl Heflercr B). QurameO® .yl
(C)  unmys qumon D) g yey

Which one of the following is correctly matched?

-(A)  Vatican - Holy Land

P Taiwan "~ - Republic of China
(C) America - First largest country in the world
D) Switzerland - Capitalism

&p eALI LuGuapyer oy sflursl QurmbEADg?

A  ausdssmen - yewrenflu Lol
(B) grru'.léurrdrr - 'afmésgtq.uua;_ '
(C) 3Gwssr - LQ)QGGD_GuJ wgo Guilu pr@

wsonafiggieun

Which High Court in India, hés held that the pronouncement of Tal‘éq Thrice in one go is
illegal? ‘ o ' ' '

(A) - Bombay High Court - (B) Madras High ‘Court

©) Calcutt_a High Court MA]_lahabad ngh Court

et (e geors Genoallweer Gifley eeug sl elGmsD eay wifledss o wir $Hoemin

ergl? . .
A)  ubumi 2w FHivempnd | (B) Qsaneven 2 wit fHwenpid
(O Qsrasgsr 2 wi Boemid - D) Swsurs 2 wir fweripid

29 | - AWMGSN7
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78.  The Botnet cleaning and Malware analysis centre, lalinéhed by the government of India in*
2017 is '
(A)  Cyber Security Port
(B)  Central Security Port

MCyber Swachhata Kendra
D) Computer Security Port

2017 @@, @bHw Sipenéd Fousd eaussiILC Gérer LTCGpL (Botnet) sy wppid
SoAurmer (Malware) g6y ewowid V
(A) ‘eveul LTESTUL SODPSD
B) ‘wsHw urrgusmhq gmmgpsl.b’
e (©)  @sui éveusest Gapdym
. (D) saflaf ungjsrrn;lq SIDDAPSELD,

79. Identify the correctly matched pair

(A) Base convention —  Bio diversity conservation
MKyota protocol - —  Climatic change -
- (C) Montreal protocql - Air pollution

(D) Ramsar convention _ Ground water-pollution

Spssan_apdle sfluren Qeareow Csibds0

(A) umsd wIY : - ueoguds Gumssd Cugnims
@) HCwrlr Asdlapenn - sreflena wIHOD
(C) Guomembluied Gpgﬁ]@@m - sihp wrsur

(D)  gmdsiTwyy -  Pegsy i wrsur®

1
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- 80.

81.

82:

i

The region where ground water is most efficiently recharged is

MDense forest B . Grass land

© .

Beossy BT s senefld CraflsstiuBn LGS
@) |
©

Deserts | (D) -Agriculture lands

v

*

SILABS STREET : B) yoQauefser

LITEnEOGUGITTRI&ET (D) efeusmw Hleoriser

-

How many states aré covering the desert development programme in India?

o\ S @ 4

©

6 . . (D) 7

@sdureller  urmoeear Cobur (g FHlrb agsmen mnﬁé)n’ﬂa;srﬂe’u G3m®u®§§uuL®

au(mE e ? | .
A b ' B) 4
© 6 | , ® 7

Which one of the following statement is correct?

A)

The most important motor way in the United Kingdom is M 24°

M The most importént motor way in the Uni\te.d Kingdom is M 25

(©)
(D)

The most important motor way in the United Kingdom is M 26
The most important motor way in the United Kingdom is M 27

SEHTEILD a:n.g')gas'mﬂsb slwren spilenens serr(Hilg ?

(A)

B)

©
(@)

&8 irdler s psSluorer @ Guom_Lrit urengs M 24
p&Au sirfer Hs @éseﬁu.@rrm e Gur_uri ureng M 25
psdw sirfler s wéflwiorer g Gorl Lt ureg M 26
msflu sirflan s adlworer g Gorl L ureng M 27

w

31
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83.  Which one of the following statement is correct?

(A)

"

©

George Perkins Marsh wrote the famous book about conservation and the
environment called Walden in 1856
Henry David Thoreau wrote the famous book about conservation and the
environment called Walden in 1854

- John Muir wrote the famous book about conservation and the envn'onment called

- Walden in 1853

®)

Theodore Roosevelt wrote the famous book about conservation and the environment
called Walden in 1855

Spargmib sapmsefics sMwimer éa@gﬂmmﬁs seir .

(A)

®)

grigy Quidlenev ey 1856 — & “eumden” erandln LITFSTUY LHHID GPS TeLMSE
g predenan erapBenmt '
Qapenf) CLefi Ggnap 1854 — & “ e erendlm LTgIETUY u:;o@uo G TaLDSE smrpg

" predlenen erpfennir

©
1)

gren By 1853 @ “aumeren” erendlp LNGSTUIL WHMID GHped srarucn,s& ETiHS g,noS]msvr
Gr@,ﬂarmr ’
HCwnmir gpev Qeucr 1855 “‘eurdien” eremdlp UNFSTUY LOHDMD G CTATLIMSF &rmpg
predlener erpHenm - : :

84. Match the sites excavated :

(a) Sind 1. Banawali
(b) Rajasthan 2. Kot Diji
- (¢) Punjab 3. Kali Bangan |
(d) Haryana 4. Rupar
G IRNC
@) 3 2 1
¢ 2 3 4 1
© 3 4 1 2
D) 4 1 -2 3
Sispnie; Qewiul L G kismar QUTGSSS :
- (a)  Sng ' 1. uereunel
(b) @ungevgmen 2. Gem_ug
(© ugssml 7 3. sndlluiusen
d epflwrenr 4. aBUTT
@ ® © @
(A 4 3 2 1
B 2 3 4 1
© 3 4 1 2
D) 4 1 2 3
AWMGS/17 32 h =



85.

. 86.

87.

88.

Lhl

Akbar constructed Ibadat Khana (House of Worship) is situated in

(A) _ Agra . - - ®

Fatepur Sikri o (D)

Delhi
Jaipur

SIEUT SiIDEE ‘GUrsHETe (aufum’ Bé saLid) a{mmfpngm @

N - ®)

€) UGy s ' ‘ (D)

Brihgdeeswara temple at Tanjore was built in
“i 1010 AD : | (B)
(C) 1009 AD | | (D)

&¢hemsude 1ApsSavainit eowid SLLLLC L e
A) #.9.1010 -(B)
© &a491009 . D)

The founder of ‘Satyashodak Samaj’ is
(A)  Saint Ramalinga

©)  smpdg) o D)

Prime Minister is appointed by :
(A) Speaker , - (B)

NP The President D)

Qpgw wiHfaw Hudiuer
(A)  sunprus ‘ - B

©) @GwwIss oo | )

- 33

QLeved
Qg

1000 AD
1020 AD

£.49. 1000
£.49.1020

B) Vaikunda Swamigal_

- (C) Gandhiji o : @M Jyotiba Phule
‘epw Cagngs émn&ﬁmp’ Bmeflweu ]
Q) @rrodhs sser B) eageTL Fumisar
Cgrdum 4 Ge

Chief Minister
Governor

ngwmmé&r’r

SaUTeRT

AWMGS/17
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'89.  UPSC chair person and members are appointed by whom?
(A) Prime Minister - (B) . Governor
«¢”” The President _ (D) Chief Minister

‘ wgHw vesflwreni GgreunenarTwigen sevaweurt HMID 2 mrudanisemer HluslueT
(A)  Qpgoir | (B) @i
(8] @lq_quj& semeeur . D)  soamwési

90. How many elected members are there in Lok sabha now?

@) 530 | 7543

(© 238 - (D) 250

sHGuNg Cars seuuie Gg;frfr'r,@,s@&&uuu_ 2 pinSenisefen eramanflsens
(A) 530 | - B 543
(C 238 D) 250

91. The Right to Informatlon Act was passed by the Parliament on
o 12 October 2005 v (B) 21¢ October 2005
(C) 12t October 2006 (D) 212 October 2006

gacusd Pl 2 fleniod s Lib ungn@mmmgﬁé ﬁmp@QJ[ﬁIDDULL R (H
(A) =&CLmur 12/2005 B) «ECurur21/2005
(C) =G 12/2006 ' - (D) @&Cunui 21/2006

92. In which year, the Government of India announced its new Agricultural pohcy
’ 2000 - . (B) 2010
(C) 2005 : ‘ D) 2012 -

TS upLb @bHu siysmiisbd HWL eleusmus Qsratemsamu sidiefsss
@& 2000 (B) 2010
(©) 2005 (D) 2012
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93.

9%4.

95.

1t

What gift did former sowet Russ1a glve bo the world?

(A)  resources o (B) programme

w planning o ' (D) policies

QpenemeT ésg‘reﬁ]u.@ ufeiéu.:rr 2 wasHHE AETDES Qa;rrmﬁ/as&ruaﬁﬂq eréen?
(A) _ cueniuser 2 ‘ . (B) S _mser |

©) Slobpse - (D) Clslrc'rra)&seir .,

Which is the backbone of the Indian economy? .
(A) market | ’ Magricultupe ,

©  service. R ©) industry

@pHw Qun@ﬁrrrgrrqgﬁsisr WeIQdEgibL| eTgI?
A) sbns l A | . (B) Geuerreimranio
©) Csweu . ' (D) ng@ﬁ)&rrmwi

‘Doctors, Teachers, Bank staff and Transport workers are comes under
m- service sector ' (B) pi’im'ary sector

(C) ' industrial sector o (D) agriculture sector

wmSgeuiadr, ffwnser, eurmél aﬂrgﬂu_mesm Gun&@mgﬁg Gg;rrgﬂmrrmmsm Q{,&]Gwrrrr crg,,s

gmg}uﬁlm Gsrr(rbgmrrasm ‘
| Ay  Geeveu gleow _ B) (ysgseiﬂmﬁ) gm;b _'
(C) Qamfie gmm _ - S D) efeusmui Slom
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96. Match the following :

(a) Simon commission ‘1. . 1930
(b) Nehru report | 2. 1932
(¢) Dandi March 3. 1927
(d) Poona Act 4. 1928
(a) ® © @

' M 3 4 1 2
B 4 3 2 1
© 4 1 3 2
O 2 1 3 4
#flwrs QurBsss
(a) ewswen G 1. 1930
(b) Cpm déms: 2. 1932
(©) sy wrsdeny 3. 1927
@ e @UUBSD 4y 1928

@ ® © @

@ 3 4 1 2
®) 4 3 2 1
©)- 4 1 3 -2
D 2 1 3 4

97. In 1889 who performed the remarriage of his widowed daughter at Tamilnadu
(A)  Srinivasa Pillai . G. Subramania Iyer '

(C) Subramania Bharathi ' ' _(D) Lakshmi Narasu vChetty

HEORBT . 18896 gargl efigemeu &EEES LN QFig) mm,ﬁgmfr
(A) &efleursl Getemer  * : B) & sulrwesilu Slwr
(©  suQuwesfiw LJ[TIIQ : (D) 6igL) B8 Q&L
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98.

- 99.

'According to 2001 census, the literacy rate in India is
64.8% - (B) 46.8%

©) 86.4% S @) 68.4%

2001|.n cg,am@ LD&EEET AFTens &m‘rsGa;@u@muq @5wreila Gr@gggﬁlcq QupCpni eramreefisons
A) 64 8% (B) 46.8% ‘
© 86.4% ' , o ] D) 684%

'With the approval of Lord William Bentinck the Governor of Madras who 1ntroduced a new
form of turban to Sepoys .

M Commander in Chief Sir John Cradock
(B) Collector Jackson _ _
(C)  Colonel Gillespie » -
(D)  Colonel Fancourt - ‘

. Qsareven %@;Err efléveflud - Quamq.rm lﬁluqeﬁlm a;@m@(%um@ aﬂuurru.les@es@ yHuw

100.

Tt

ga)a)uurrms;a)u.l ae;ﬁ]@esuu@g,g‘}u_lmn
A Ll geTug & gren AyLé
‘(B) SQeEL_T gTéFe

O sianed fHoGasvd

D) sivame urenGami

Queens proclamation has been called the Magna Carta of the Indian people. Accordmg to
this which one is not correct? - ,

(A) disclaimed any extension of territory
(B) promiéed religious' toleration
©) guaranteed the rights of Indian princes
it put not an end to the East India Company’s rule

Curpélen iflsms QB wasafler arﬂcmo greend Grsurgu asngg&suu@é]g)gu @gsanuq TESBSF)
supreng)? . :

@)  yw uEHse QeaTEELUL WILLTE

B) sww sduyggareow YeauppULGD

O @pdu sipsraefien 2 Menvser mﬁéasuu@tb

D) Qoduw m@ﬂ&é‘@@sﬁ]&r <A apig ey aurelldoaa
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" Time Allowed : 2 Hours] . : [Maximum Marks : 200

Read the following instructions car'efully before you begin to answer the questions.

10.
11.
12.
13.

IMPORTANT INSTRUCTIONS

 The applicant will bé supplied with Questlon Booklet 10 minutes before commencement of the

examination.

This Question Booklet contains 100 questions. Prior to attempting to answer the 'candidates are
requested to check whether all the questions are there and ensure there are no blank pages in the
question booklet. In case any defect in the Question Paper is noticed it shall be reported to the
Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.

- If any defect is noticed i in the Question Booklet after the commenoement of examination it
‘will not be replaced. -

Answer all questions. All questions carry equal marks

You must write your Register Number in the space prov1ded on the top right eude of this page Do not

write anything else on the. Question Booklet.
An answer sheet will be supplied to you, separately by the Invigilator to mark the answers.
You will also encode your Register Number, Subject Code, Question Booklet Sl. No. etc. with Blue or

» Black igk Ball point pen in the space provided. on the side 2 of the Answer Sheet. If you do not encode

properly or fail to encode the above information, action will be taken as per commission’s notification.

Each question comprises four responses (4), B), (C) and (D). You are to select ONLY ONE . correet
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for

‘each question. Your total marks will depend on the number of correct responses marked by you in the
"~ Answer Sheet.

In the Answer Sheet there are four circles @ .®. © and (D) against each question. To answer the
questions you are to mark with Ball point pen’ ONLY ONBE circle of your choice for each question. Select
one response for each question in the Question Booklet and mark in the Answer Sheet. If you mark
more than one answer for one question, the answer will be treated as wrong. e.g. If for any’item, (B) is
the correct answer, you have to mark as follows :

@000

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
thm Questmn Booklet and the Answer Sheet out of the Exanunatmn Hall dunng the examination.

The sheet before the last page of the Question Booklet can be used for Rough Work.

In all matters and in cases of doubt, the English Version is final.

Do not tick-mark or mark the answers in the Question Booklet.

Failure to comply with any of the above instructions will render you liable to such action or penalty as

-the Commission may decide at their discretion.
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